10

11

13
12

14

15

17

19

20

21

22
23

24

40

25

26

27
28

38

36

39 37

29

30

31

32

33

35

N Wl OOl | N || ©

-

Item No.

Round Head
Machine Screw

Display PCB
Lock Nut

Flat Spring
Washer

Socket Head Cap
Screw

Safety hook
Lock Nut

Spring Washer

Flower-shaped
Spring Washer

Fuse Holder
Hex Head Cap
Screw
Fuse Holder Nut
Power Socket
Square nut

XLR Port

DMX
PCB

Button Cover

Acrylic Cover

DMX
PCB

XLR Port

Round Head
Machine Screw

Power Socket

Round Head
Machine Screw

Hanger
Flat Sprin
Was%erg
Round Head
Machine Screw
Knob

Rubber Washer
Rubber Washer

Back Cover

Round Head
Machine Screw

PS
]

Light Base
Side plate
Flat Head Machine
Screw

LED
PCB

Copper Column
Lens
Front Cover
Flat Hesaccﬁel\\flvachine

Name

M3x6
116x40
M6
B6xP12xH1
M6x12
M6x12
M4
a4
a4
@12
M4x14
M12
POWER IN
M3
DMX IN
30%26
J10xH6
57x28xH2.5
30%26
DMX OUT
M3x8
POWER OUT
M3x10
50%38%xH54
B6xJ12xH1
M3x6
M8x16
J18x38.5xH2
B15%x36.5%xH2
981x61x70
M3x6
150W12V
982x66xH80
66x80
M4x8
476%52
M3 Hexagon 26+6
@42xH26.5(6in1)
978x50xH5
M3x8

Specs(mm)

AIiAlalpdlalalalplalalolalalalalalalalalplalalal s

SDloIN|[o | =22 N2 s g

| -

Qty

Bright XBAR

Exploded View / Parts List

CREATIVE
TECHNOLOGY

N=P Live Events

Creative Technology Norway

Brugata 19, 0186 Oslo
www.ct-norway.com




	Sht-1-Sheet Title
	1


